Lecture 3 prob review / parametric models
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Borel-Kolmogorov paradox on wikipedia
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https://en.wikipedia.org/wiki/Borel%E2%80%93Kolmogorov_paradox

2c 0y s, @240
Diowie b valin : pne b g X412
fran ()(:dy:Z): pfz(%)
C condiby andoq o XLY = galy)s p=) [
pamdy . 2= indar e ndhon iz o Qorehs ddse,

X = doitn 1 Yes dismy
yﬁdwg 2 1y Xﬁyl%

2 hire ) Yis&r"wgv\%mp"ﬂ(y
(te. XXV
%%@ (c%q j\-/ﬁ"ﬂ> pl V“:) #Zpl) ffy)
(?(:r, w2) = glalz) plyi2lglz)

Yoy ¢ yarose ihp BUx Jui o vt matlly Ap ¢
X = CounSpip s fO)E Qggm_zéxwy

=Gnfr ol cin S,
Z W x
Ol ol . 252
gectatin, /iua) ofy a R/,

EEYJé X Pz G diodfy B
- xé‘b(@() dyat V)

~_gicpﬁc)cha [« b &&\2)

B0 b a lion guar = B?[raX+Y]=aED(_7 »ELY7

] o,
Vo Q,°
Vo[22 BL(X-8)] Ve dogrsin”
= WLCT - (8)” fou Judy’
fouwgitic wodll -
b ol b

D... fm%l-#c

IFT6269 Page 4



L a ol of dstrinkung

p ?j) )@][65@' “W"ﬂ;@%m e ﬂ/
i w&ﬁ/ﬂﬁémfj o ally fd S &

touse. (f eoobin ¢ pe6) 166 B¢ Yol ﬂ*:%"ﬁé‘“&@“

\odtin” i 14X;0)locol s = Lot
Jr Qommy dist.
\!\gbf;o\i\_fj\; X W Ebm(é’)
?\“%V%lsmshfmk«lv«%mﬂhh* !
W% pwnib”«é‘
@(%"6) Poen | ?)6) &*(6)™* ‘z:e%oﬂg

Yorveull ¢ ffd&’- ‘5 Qmjagcp \S-Z)(—T%O)_‘Z
mw Y%l |0fs6 Y@ sl)]
(’I-l 6)

\;wy plz; €) =6 (-6 = fomn(1:6)
=6 7
Van B =6(1-6) 1
(%

Vp |

andw_porb ; }@(T 107) = N(%/Mﬂ »(@(:{u)’) Casin B
14/"1‘7) orio? NS



